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PSYCHOLOGY

Paper 11

HAHIMEH
oateRTt 11

Time Allowed : 2 Hours]
Note : This Question Paper contains Hundred (100) multiple choice questions.

[Maximum Marks : 200

Each question carries Two (2) marks. Attempt All questions.

U 3. WA A i

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

For MCMI 1V, which of the following

is not a severe personality pathology ?
(A) Schizotypal

(B) Borderline

(C) Paranoid

(D) Schizoid

Which among the following is the
main function of the pre-frontal

cortex ?
(A) Controlling reflexes

(B) Weighing the pros and cons of

a possible action

(C) Receive light-touch and deep-

touch information

(D) Understanding the speech and

form of language

MCMI IV 41dt, @reiterdent v 7R
e defarst e ?

(A) TergieETa

(B) drEtetsd

(C) WrHEE

(D) fereize

el dRlehT (Wthledt shites™) T

HTd WeAlddeh! Hivd g ?
(A) wfagm fafaa e
(B) Turer forda g enfor e Hieton

(C) B T+ emfor Tife=an Tt
e W Yol

(D) 9ol gekded STfol e @&y
HASH B0




What is the relation between
coefficient alpha and coefficient of
precision when a composite test is

made up of non-parallel subtests ?

(A) coefficient alpha = coefficient of

precision

(B) coefficient alpha < coefficient of
precision

(C) coefficient alpha ~ coefficient of
precision

(D) coefficient alpha > coefficient of
precision

Which among the following
statement/s best explain/s the role
of Blood Brain Barrier ?

(I) It controls the oxygen supply to
the brain

(II) It protects the nervous system

from toxins and viruses

(IIT) Allows the free flow of molecules

across the brain

(IV) Hypertension can compromise

the blood brain barrier
(A) Only (I)
(B) Only (ID
(C) Both (II) & (IV)
(D) Both (I) & (IV)
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Segl WIF ATAUN FHIGY AT

SUATHUEMT STe 3T <Togl 3T TR
ST STeehd=l TUNe ATAW ®E FaY
I ?

(A) 3R UM = STghdal IO
(B) 3l UMk < Tehadl 0N
(C) IR UM ~ 3Tehdal U

(D) 3TH T > STSHAA TOh

Tetad®! HIva faum waA g
STEgeEITEl fHeh FAHIU T HLd ?

) T = SHiferasH qRarer et

1) ? wesrEee foomd wared snfo
oo TReT0 i

(IDHEHE I0[=1 GFAYATE Hh{vdATd
WA 3

(IV) ST TRIHG AT 378 2TealTd

qSSIE e ITehal
(A) Ted (I)

(B) & (1D
(C) T (ID) =for (IV)

D) T (1) 3T (IV)




Which of the following personality
measure contains assessment of

faking ?

(A) EPQ-R

(B) NEO-PI-3

(C) HEXACO-PI-R

(D) IPIP-NEO

According to the Schachter-Singer

theory of emotion, which sequence

of event is correct for the production
of emotion ?

(A) Perception of a potential
emotion-producing situation; an
aroused body states;
interpretation and labelling of
the bodily state

(B) An aroused body states;
interpretation and labelling of
the bodily states perception of
potential emotion producing
situation

(C) Interpretation and labelling of
the bodily states; perception of
a potential emotion-producing
situation; an aroused body state

(D) Perception of a potential
emotion-producing situation;
interpretation and labelling of
the body state; an aroused body
state
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RN AR I ICH R B IR EI

GIqUTE oA HHIfa 38 ?

(A) EPQ-R

(B) NEO-PI-3

(C) HEXACO-PI-R

(D) TPIP-NEO

HF-fam gt ama fagiaar

WU IV T T B Ta

fffdten @ma o ?

(A) g@ re-fafidt aftfeed= doT;
IR YR Uded!; TR ardesr=
faweroo enfor sfesa

(B) 3aiud YRR Uidedl; TR drded=
fagawm snfor efiwwvl; g«
aqraT-fafddt aftfeerd= gagq

(C) i uraad=a fagawon anfun
ST, Fa e gk
Hog; IqaIud TR e

(D) g raer-fAfHed aftferd= dag;
IR ards fagasor afor
i@ vl; ITEITad IR qdast
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7.

Edward’s personal preference
schedule is based on :

(A) Maslow’s theory of need

hierarchy
(B) Murray’s theory of needs
(C) Freud’s theory of Id-Ego conflict
(D) Roger’s theory of personality

A periodic production of action
potentials that takes place even

without synaptic input is referred

(A) Reflex arc

(B) Temporal summation
(C) Spontaneous firing rate
(D) Excitatory potential

Which among the following tiny cells
helps build the myelin sheaths in

the Central Nervous System ?
(A) Radial glia

(B) Astrocytes

(C) Microglia

(D) Oligodendrocytes

7.
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TEaed A UHH Yegd §— A
Ui 3R

(A) Hocr=n e faga
(B) w&=n TLShtasEEn fagia

(C) Wisedl 35-27eH Feauigad=n fagm
(D) U= Afeaaa fagia

warEes Raee AfedivE™ (3792)
B frafia feanemaren fafdden s

WU 7

(A) wfqera =y

(B) wifcteh qHEhe
(C) R Hfawrg

(D) 3USies fawg

WTeAdsh] hIv o8 U3 Hegad]
oSS ES e STeRl (HEfa )
TIR HOIHE HSd kA ?

(A) festa Tfern
(B) SLIEEeE (ANI-3TRR=AT Uei)
(C) g&n it (wrEshifiern)

(D) FsATaq=al AT

(SiferegrmEd)

Rl
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10.

11.

12.

Which of the following best describes
Sri Krishna’s initial guidance of
Arjuna in the second chapter of the
Bhagwad Gita ?

(A) The importance of renouncing

all actions

(B) The eternal and changeless

nature of the self

(C) The superiority of Bhakti yoga

other paths

(D) The resection of all worldly

duties

Creative thinking is different from
routine problem solving in respect

of :

(1) Fluency

(2) Flexibility

(3) Originality
(4) Day dreaming
Codes :

(A) (1) and (2)
(B) (2) and (3)
(C) (3) and (4)

(D) (1), (2) and (3)

Thurstone is associated with which
of the following ?

(A) Equal appearing intervals scale
(B) Social distance scale

(C) Semantic differential scale
(D) Summated ratings scale

10.

11.

12.
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eI GE=A LTI ST $fieheur
feeiean geand=a1 AFeeHRE Seerien!
I Helicd a0 A ?

(A) T HHMET AN HOIE e

(B) =A== ywed oA1for ergfiadHid
TIY

(C) W 9d AFTYET Yot AT 953
(D) 99 HHIieh hdeam=n &M

A=A UL gisfavarden 9mes
YA

(1) yemgon
(2) <efeehdl
(8) hcYehdl

(4) fear=
Hehdieh :

(A) (1) = (2)
(B) (2) = (3)
(C) (3) =mfor (4)

D) (1), (2) =Afor (3)

WAt HIMIN RS a1 HHERISRE
Y M ?

(A) U I TGt

(B) @rHIfSTer 3T@R HI9Ol

(C) AdR a9t |90

(D) TR JEHI=EA |




13.

14.

Which among the following is a

function of efferent axons ?

(A) Controlling the voluntary
behaviour

(B) Controlling the involuntary
behaviour

(C) Carrying the information to the
brain structures

(D) Carrying the output from one
brain structure to muscles

Which of the following alternatives

is ‘True’ for the statement of

Assertion and Reasoning ?

Assertion (A) : The Eightfold

Path consists of ethical, mental, and

wisdom based practices.

Reason (R) : Right speech, Right

Action, and Right livelihood from

the wisdom section

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true, but
(R) 1is the

explanation of (A)

not correct

13.

14.

JUN - 13225/I1—B
AUl 3T WAleitehl il hlE 3T 2
(A) TUfew a9 fafaa s

oo ~

(A42Ad ch Ul

(B) 3fes® adH

(C) ¥Hg=n Tervda mifedt Frafa o

(D) HEHA TH TG TEwEq A
oA 0.

faum (A) snfor wRU (R) faumEmt

TeAeden] 3T TAd IVl TR ?

faam A) : ereeifres wmrfa Afass,
qHfEes 0T JH- SR Jgd=n gamas
3Te.

IUT (R) : AT AIO0T, I Sl A0
Iy IUSifaeR] § IF faum eTea.
Hehdlh :
(A) (A) 3T (R) & Qe SRISR 3TTed 0T
R) T (A) 9 MY TWRIH 3R
(B) (A) T IR 3T, I (R) T I 3T
(C) (A) T TH e, W (R) T IR 3T
D) (A) 31T (R) T Il SReR 3Ted g
R) ¥ (A) 9 I7g TR @l
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15.

16.

17.

According to Freudian theory, an
individual who is guided only by
pleasure, has no internalized social
rules of behaviour, and has little
ability to balance the id with reality
demonstates an :

(A) overdeveloped ego

(B) overdeveloped id

(C) overdeveloped superego
(D) underdeveloped id

Which of the following is/are true about
the item discrimination index ?

(I) It is a measure of reliability
(II) It is a measure of validity
(A) (I) only

(B) (II) only

(C) Both (I) and (II)

(D) Neither (I) nor (II)

Which

among the following

chemicals is actively involved in

hunger and satiety ?
(A) Cholecystokinin
(B) Angiotensin
(C) Bradykinin

(D) Histamine

15.

16.

17.
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RisS = g aR St o9l e

qEER A1 dw@ ArRiyfa o9,
A TS GrHTSTeR faH 37
ol T9dd, 3T SeEmed 38 et
IR AL H AT Fafaad
W wﬁ %, ............. a.%a.

(A) Afafasfaa o=q
(B) stfafaerfad 3
(C) sfafererfad T=gH
(D) 3tforentad 3§

gvq (3maeH) Uit fadvmergsien

TATTeh! S seR 3T ?

1) « fovaedeaa Tw J9d 31e
(II) T Fuefay oo o1
(A) & (D

(B) W (II)

(C) () efor (1) =t

(D) (1) sufor (II) aArden! &
TCHeden] IO WA e A0 ot
e wiehd e ?

N ENNREEIGED
(B) sifSsienfem
(C) sffefer

(D) fewermEA
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18. Which of the following are factors

adversely influencing interpretation

of correlation coefficient ?
(1) Sampling Restricted Range

(2) Combining Heterogeneous

Subgroups

(3) Presence of Bivariate Outliers
(4) Linearity

(A) Only (3)

(B) Only (4)

(C) Only (2), (3) and (4)

(D) Only (1), (2) and (3)

19. When two forms of the same test are
administered on the same sample
immediately one after the other, this
procedure will allow the researcher

to study :

(A) Reliability across time

(B) Reliability across content

(C) Construct validity of the test

(D) Concurrent validity of the test

18.

19.
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weHa e UTRTAT el AravATaR
WA IV T2k Hfdepal qRomd

ERGI S

(1) waffea F= T3 =0

(2) favm ITEHRE ThHATHI
(3) o= AR Iufeerdt
(4) TStz

(A) & (3)

(B) &K (4)

(C) we (2), (3) =7for (4)

(D) (1), (2) 37for (3)
Segl WeRl A== S WiH, Thtd T

TR T A A AGd hd
(A) SHTeTHR forgeraHrad

(B) REIER fogester

(C) =revi=l Hifaew Fenef

(D) T Femelan

10



20.

21.

22.

In which of the methods of
physiological psychology devices are
precisely positioned in the depth of

the brain ?
(A) Stereotaxic surgery
(B) Aspiration Lesions

(C) Transcranial Magnetic

Stimulation
(D) Deoxyglucose Technique

What argument Nagarjuna gives to
demonstrate the emptiness of

phenomena ?

(A) The interdependent origination

of phenomena

(B) The divine will as the source of

existence

(C) The indivisibility of subject and

object
D)

How many scales are there in Form
I and Form II of Luria Nebraska
neurological battery, respectively :
(A) 11 & 12
B) 12 & 12
(C) 23 & 23
(D) 05 & 12

The unchanging nature of self

20.

21.

22.
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SRR RIS Shiofe] Ugaiae e

HAA ITRL SFEHRIY Al S ?

(A) fefenefeas wefma

(B) FIOTfRIHes IR BIOR 301

(C) TR FahE I

(D) fesnfrmreest o

HERUIE I RRER B TuE IC i LIS |
HIVAl Ffkag ATl ?

(A) FATE WEEs SE
(B) sifcaem=n 9/ ®u[E <ot 3w
(C) foorm sftr areq=t stfavmesan

(D) ‘w' 9 MEdHa Weq

R eTERT <UeitoTehal el HiF I 10

w11 I9ed fodt UM oRd 2

(A) 11 & 12
B) 12 & 12
(C) 23 & 23

(D) 05 & 12
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23.

24.

25.

Which among the following cranial
nerves is related to eye movements ?
(A) Optic nerve

(B) Abducens

(C) Hypoglossal

(D) Trigeminal nerve

Which brain structure connects the
two hemispheres of the brain ?
(A) Cerebellum

(B) Superior colliculus

(C) Corpus callosum

(D) Transverse fissure

Trait theories were largely derived

from :

(A) The way in which people form
and act out behaviours and
habits

(B) A combination of Freudian and
neo-Freudian theories

(C) Existential analysis of the way

people behave on a daily basis

(D) The words people use to describe

themselves and others in

everyday lives

23.

24.

25.
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WATAUShT Shae AT hIUCAT T Sl

BTSN Gefed Sfed ?

(A) =

(B) STqact

(C) AufSer =

(D) femen =@

R ?

(A) ITHfETSR

(B) ¥&d av

(C) wemaAS fus (HRUg shalldd)

(D) &fes foers (ITdeed fHeR)

Hfeaaferse fagra amaRE fafo gmen

<

(A) 1 Ui SHe =T el 3oy

ATl AR edd

wisfead ofor FawEfeas =

i N

(C) 1 9gd ek eHfed S ST
e STfRcaR] fagerson

(D) e SiieFd <=1 STea=aT 3R wish
M ST 3ae 9 hidld

(B)

12

[=] ==

[=]



O00

[=]

26. Read each of the following
statements-Assertion (A) and Reason

(R); and indicate your answer using

codes given below :

Assertion (A) : Perception remains

constant although the proximal

sensation changes.

Reason (R) : Our perceptual

system has mechanisms that adjust

our perception of the proximal
stimulus.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

JUN - 13225/11—B

26. et oo g faum—Tfaum (A) sfor

HRU (R) ar=, 0 qHE W el
Hohdlsh aTT®A <1
fagm (A) . FHwY 987 S_ad al

Hoga fer T

HROT (R) :  GHIIEY IEAEIS! SAJehor

FHIOMAT TN A Hagd @A

1.

Hohdih

(A) T= (A) e7for (R) ¥cA eied Sifor
(R) ¥ (A) 3 A TR 3T1”

(B) Tl (A) 3701 (R) | 3TRd °OI
(R) ¥ (A) & 979 TIERI0T AT

(C) (A) & &9 g, 901 (R) B 31&A
R

D) (A) 3 32 I01 (R) § T 3T
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27.

28.

The “cocktail party phenomenon”

inspired research on :
(A) attention
(B) stage hypnosis

(C) alcohol effects
(D) biological rhythms

Which one of the following

statements is true ?

(A) The ‘Global Five’ factors in
personality refer to the second

order factors of 16 PF

(B) The ‘Global Five’ factors refer
to the factors assessed by the

NEO-Five Factor Inventory

(C) The ‘Global Five’ factors refer
to the factors assessed by

Goldberg’s bipolar adjectives

27.

28.
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hichded TSl T ShIoTedl TN U

o ?

(A) YN

(B) &S g

(C) YU giomy

(D) Sifasr ATGd

WA hIvd o™ 99 e ?

(A) ‘SITTfdes 9=’ Teeh SAfeRAammeTa

THH AUt 16 HAfHEE  HCHN

RHECEC

(B) ‘Sirifaes 9ra’ w2 A3l 9= seh
TR

(C) ‘SIrfaes ura’ e TMosei<al

(D) ‘SiTTfaes U=’ oesh  ATFH Rl

(D) The ‘Global Five’ factors are ) .
FZfeRTH<E TS0 SRR Taled
derived from Eysenck
Personality Profiler
14 [=] 5 [=]

[=]



29.

30.

Which of the following sequence is
correct, with respect to early

selection theory ?

(A) Registration by senses —
Filtering — Unattended
information static — Designated

information processed

(B) Filtering — Registration by
Unattended

information static — Designated

senses -

information processed

(C) Unattended information static
— Filtering — Registration by
senses

- Designated

information processed

(D) Registration by senses —

Unattended information static
— Filtering — Designated

information processed

Henri Tajfel is the father of which
theory ?

(A) Equity
(B) Social Exchange
(C) Balance

(D) Social Identity

29.

30.

JUN - 13225/11—B
A= T fagraren deutd
WEATATeh! iU HH sReR e 2
(A) sfsamgR Aot — Mesolt — gaitad

Afet feeR — F7Ee shotedn Hifedie]
PIED]

(B) Tesvit — EfSAGR Ao — gaiiad
Hifedt feer — frgert Sheiean Arfadie]
EIERI

(C) Toifea wifedt feeR — TMesoll —
AR Ao - fAgs oo

ATfediar. ke

(D) Ef5AgR Ao — geifera Arfedt R
— Mesuil — g Shetean Hifgdier
EIERI

TR AR 7 v g S

e ?

(A) T

(B) wrHTfSieh faf e

(C) gud
(D) TS e
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Q.No. 31-35. are based on the following

31.

paragraph. Read the following
paragraph and answer five
questions that follow :

A researcher carried out SEM based
confirmatory factor analysis (CFA)
of six indicators on a sample of 500
respondents. Three indicators
measure altruism and three
measures trust. The ML estimates
are obtained. The baseline model
has chi-square of 1312 (p < .001).
She tested three models : M1 =
unifactor model, M2 = Two
orthogonal-factors model; M3 = Two
oblique-factors model. The chi-
square for M1, M2, and M3 are 230
(p < .01), 120 (p < .01), and 65
(p < .01), respectively. The GFI for
M1, M2, and M3 are 0.81, 0.90, 0.95
and AGFT are 0.71; 0.85; and 0.91
respectively. The Root Mean Square
Residual is 0.21, 0.09; and 0.04
respectively for M1, M2 and M3 with
phi = 0.54 for M3.

What is df of baseline model in
above example ?

(A) 36
(B) 12
(C) 15
D) 5
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31-35 : T HINHHM 500 FfadEhHr=n
TR Ta1 R SEM STremRa
‘qedt wew favaoor’ (CFA) ohal.
d e sreggee (WIThR)
Y hHdrd 3O oiiF g (favam)
AT A ML SieSeh el
AR, IHART HisaTdl HII-EA3R
1312 3® (p < .001). fa =
Y SO Shedt : M1 = Tohsesh
TEd, M2 = 3F SigiAa-se®
TEY; M3 = TH fiehd-92sh Jr&u.
M1, M2 3701 M3 913t ShrE-Taeri
A 230 (p < .01), 120 (p <
.01) 3T 65 (p < .01) 3Tea. M1,
M2 =7for M3 4t GFI 31364 0.81,
0.90, 0.95 3701 AGFI 3TJsH 0.71;
0.85; 3Tfur 0.91 3Tga. M1, M2,
afor M3 ¥t ® HH WK
FoegsTe (T o STeR )
3T 0.21, 0.09, T 4 3T ST
phi = 0.54 3T=.

31. I ST G Higedl df

A ?
(A) 36
(B) 12
(C) 15
D) 5
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32.

33.

34.

What is df of M3 in above example ?
(A) 11

(B) 8

(C) 6

D) 5

Which model is best fit in the above

example ?

(A) Only M1

(B) Only M2

(C) Only M3

(D) Both M2 and M3

Which of the following is correct for
the above paragraph ?

(1) Trust and altruism are

orthogonal
(2) Trust and altruism are oblique
(3) Best GFI and AFGI are for M1

(4) All models are accepted since

chi-square is significant
(A) Only (1)
(B)

©

Only (2)
(1) and (3) both

(D) (2) and (4) both

32.

33.

34.

JUN - 13225/11—B

A IO M3 &1 df FE 3TY 2
A) 11

(B) 8

(C) 6

D) 5

A ITTEAUMA hI0A EY Fard A
e ?

(A) e M1

(B) ® M2

(C) wFa M3

(D) M2 sufor M3 <=

el IR=ReTEe! Eefierteh! v sfie]

A ?

(1) faverg snfr Wosr § AtHA
e

(2) favarg =7for WoeR § faewy emea

(3) HatwH GFI 3ot AFGI g M1 TSt
aTRd

(4) T Yrey TR ST shioT Shid
THAS-ALTNT T8

(A) ®e (1)
(B) ®H (2)
(C) (1) sufor (3) sS4
(D) (2) 30T (4) <=
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35.

36.

37.

Which of the following values
indicates best fit for Root Mean
Square Residual in CFA ?

(A) Closer to 1.00
(B) Closer to zero
(C) Less than 0.50
(D) Higher than 1.00

The fact that the inner corner of a
room looks farther away than the
outer corner of a building provides
one explanation of the :

(A) Ponzo illusion

(B) Ames room illusion
(C) Poggendorf illusion
(D) Miiller-Lyer illusion

How does inducing positive affect
influence persuasion, according to
research ?

(A) It always leads to attitude
change regardless of message
strength

(B) It promotes a positive response

but depends on how the

message is processed

(C) It only works when the message
contains strong logical
arguments

(D) It has no impact on persuasion
as emotions are separate from

reasoning

35.

36.

37.
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@eftadent SV g CFA 783 &2 HiH
TR aegsrade waifas 3feq
A TeEd ?

(A) 1.00 =1 e

(B) ™A S8

(C) 0.50 U&m wHH]

(D) 1.00 Yan ek

IRed ; W= 3Taeh shiFT 81 SHRA
R e e, § PIE]
IENSERCTRR

(A) dr=il 9

(B) T Tiefl 99
(C) di-slh 9™
(D) RIER-ARR 9

HYNLATHAR, FHWCHE IO 7
TBIUITeR. hAl TRUMH Hid 2

(A) G drRe fRdid owelt ol
TeHE AT IEAvaE R
3

(B) & UhRIcHE Ffaderen Hieded <4,
g G w W el W
R SFAAT A

(C) SR HIWTd HSTed dlfcheh FfeRTona
YA deerE o HE w

(D) AT TR IR Tl STHCAT Tl
T J@ITAER HIOTE RO B
I
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38.

39.

40.

A psychodynamic theorist would
predict that when faced with a
conflict between accuracy and self-
enhancement, people are likely to :
(A) Reject accuracy

(B) Reject themselves

(C) Become frustrated

(D) Compromise

considered

Psychologist who

Aggression to be a basic human

instinct :

(A) Sigmund Freud
(B) B.F. Skinner

(C) Abraham Maslow
(D) Henri Tajfel

As group size increased, individual
effort decreased, this phenomenon is

called as :

(A) Social categorization
(B) Social loafing

(C) Social exclusion

(D) Social comparison

38.

39.

40.

JUN - 13225/I11—B
Stegl STl ST TGLROT ATHET Forsh
BI ISRl FARTHOeh FgTaeh Trehifors=it
T 9RId A

(A) ST gaAfed Hid

(B) @d:®e gaidl hidrd

(C) Iwhey B

(D) eSS L

FThAHR & JAYd ATl Yl AR
HAHRMTEHSA ¢

(A) faHe wre

(B) s.u%. f&r

(C) oToTEH A&l

(D) T ST

TS 3R STl Shi S ferkdsh Tdc] hHl

gard, 91 T 9 UMK

TN IS ERCRIETY

(B) 4i9rer fw

(C) WIS 3TqaSiA

(D) wrHISTR gor
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41. A person not only has a set of | 41 E@WWW &Wﬁﬁﬂﬂﬂm,
abilities, but also a set of potential T FHTA &HATAT H SISl STHAl STl
abilities that can be realized if given AR R0 3aqqh g7 BRI L'
the proper guidance from other’s. “'."”'Q'q';* 1 |IRR S TRA & HIf
Who propagated this ? A
(A) Piaget (A) 9
(B) Vygotsky B) .
(C) Bandura (€) 9
, (D) f&T
(D) Skinner .
, _ 42. ASHEG famyE SR ekt SEThe
42. Gender schematic as are more likely | ... YhR ETIET Il ST
to see the word as .......... 3d
(A) Divided into masculine and (A) geua STl St a1 S gfld
feminine categories fauifsa shzama
(B) Biased against their gender (B) 7 @@= fermwrararad qeue gfee
(C) Distorted ways that favor their (C) = fa & "
gender aw?n Tyiferdma
(D) A place where their own gender (D) a1 fATaEr a9 ST S
dominates HAA
43. The child will typically play with the | 43 e TR BTSN e ST HTess
toys and bring one to the caregiver > 5 N o
to show and describe it from time i d qwlqwquuqm
to time. The child may be upset ST e Ui HIA. hTess STE
when the caregiver departs but is TeAeR. o TR 8% ¥ehd UL ohiessi!
also happy to see the caregiver STEHTE T A A TEte B
return. This shows which .
RV TolTeh g‘s‘fﬁoﬁ ?
attachment style ? 8 ¥t ’
(A) Secure attachment style (A) gifera Heres Sreft
(B) Disorganized attachment style (B) THafeerd Howeh el
(C) Ambivalent attachment style (C) gfaen W= T el
(D) Avoidant attachment style D) @var G Sl
20 [m] T =]



44.

45.

Which of the following theory supports
the idea that when people pursue
positive goals their self-regulation
efforts are focused on reducing the
discrepancy between the current state

and a future goal ?

(A) Current goal theory
(B) Control theory

(C) Self-discrepancy theory
(D) Gate-control theory

theory of motivation stated

that the individuals are not only
motivated and driven from within,
but they are also pulled by external

factors of incentives.

(A) The drive reduction
(B) The arousal

(C) The humanistic

(D) The expectancy

JUN - 13225/11—B

44, TATAYh! hivdl fagia &1 el et

45.

HRIAS A=l qarael @-

TR 18] ohigd hed AT TIEerdt
9 IfTeheld Samete dawed hHt
FHLIME HegTel Iifes egifed ?

(A) W@ <3 fagm
(B) o= fagma
(C) @-9gHHs g

(D) Tre-frEsm fagia

AT, B e SATdes YIOm efur
YaieTes IRd Bd AEd T @ S
HZHE TAYAER Sl el .

(A) wEEAeTuE
(B) SIFRU/3IZEAH
(C) A

(D) TUeTEEAl

21



O] JUN - 13225/11—B
46. According to the classic concepts of | 4. T onfor = == 2AfeTg HHTIATTER
Row & Kahn, successful aging T g W
comprises of ...........
(A) ATSRIFYTE™E gHIURTBEA 3=
(A) High physical, psychological
and social functioning in old age
without diseases RIRELLL
(B) Factors within the person like (B) 3FCMRE HHHLTA Heh
happiness . .. .
(C) Tociean wewia el Hafyd searel
(C) Adaption to age related changes
T
in a given context
(D) SeKRIT=a TS YT &Tal ArAA
(D) Balance between person’s needs
and competency SSNN
47. Your ability to focus on a TV show | 47. TE=H SAUEEd AT SIS QRIS
while ignoring the noise of your WQ@&TW@'@.WH&T%@H
artner nagging about supper
p gging PP 2 5 =7 TSy 2
illustrates :
: (A) HIE H
(A) synesthesia
(B) selective attention (B) S
(C) sensory attention (C) agfer @Y™
(D) sensory adaptation (D) Jefie ghem
22 [m] &% [=]
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48. The three types of Territory, i.e., | 48, 9 U= 3eehyr () =u,
Primary, Secondary and Public Tifi, gom et g e
differ on all of the following except
& Cxeep IV FTeed] HE Seda = 3ed ?
for ...........
(A) HITRTET HABR
(A) Occupation by the owner
(B) SAfeRTeRTOT ATV
(B) Degree of personalization
(C) 3aUAT HIcteh! M ATed
(C) How others perceive ownership
(D) Concept of personal space D) ¢
49. Which of the following lifestyle | 49. T e S el Shivd ST
factors is known to affect wellbeing TeH Ylgear=al Scalieia e
positively in late adulthood ? YRR JROMH hd[ ?
(A) Mental and physical activity (A) FARRIER et
(B) Alcohol consumption (B) wIHTIA
(C) Retiring early (C) o=t T
(D) Drug consumption (D) sfwers He
23 [m] 2% [=]



50.

51.

52.

Crystallized abilities include the
ability to use skills, knowledge and

experience. These abilities tend to :

(A) Improve with age as

individuals expand their

knowledge through experience

(B) Decline with age along with

general cognitive function

(C) Stay static over time

(D) Do not change with age

is associated with cyber

bullying.

(A) Physical abuse
(B) Anonymities
(C) Ragging

(D) Hurtful teasing

What kind of processing involves
high levels of cognition controlling
and regulating events affecting

lower levels of cognition ?
(A) top-down processing
(B) bottom-up processing
(C) proprioception

(D) transduction

50.

51.

52.

JUN - 13225/I11—B

feer wmeien emamed (Crystallized)
I, T TV ST STIRUAT &THel
Tifase oT9d, a1 &HAmEe

(A) TATTIR SRt STIHERAR = TH
Eadd T8 YUROM B

(B) TAMER WM HIHHS HIAHE

2 BN
(C) wTeATayy feer e
(D) SAER 9¢erd TRl

(D) TR FEITS

HIIT YR Gfshad 3=9 Urdesidl

ST T 3TE; SAHes A= 1=
aifor fgee ohed S 2

(A) F&A-Trell Fisha
(B) @efd-sX Hfsha
(C) Ffsa HeaeH
(D) SHStaRo
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53. Equity theory is about :

(A) balancing rewards and

contributions in relationships

(B) the effects of social class on

identity

(C) how people make economic

investments
(D) the study of power and politics

54. According to Eysenck’s three-factor
theory of personality, which one of the
following factors refers to a person’s

level of stability/instability ?
(A) Extraversion
(B) Conscientiousness
(C) Neuroticism
(D) Psychoticism
55. el is not a type of neuron.
(A) Bipolar
(B) Unipolar
(C) Multipolar

(D) Homozygous

53.

54.

55.

JUN - 13225/11—B
=l faga =S
(A) TaEsHEmE MR s deT
Tgfera o
(B) wrmifSrh aten IferdeR grom
TR

(C) @ 7Y T[Aaveh e hid

(D) g AT TSTehIOm=T 3787

AEFH=AT Afgaawa fagiaran
WTeTAYeh! HIOAT Teh Hdeh HaR=Al
Teeran/ erfeerar drdedie Haifed smR ?
(A)

(B) whaeagerd
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56.

57.

58.

According to Gardner’s theory,

intelligence is a/an appropriate

to specified kinds of content.

(A) Factorial elements

(B) Comparative processing skills
(C) Information-processing abilities

(D) Ability clustering forms of
thinking

What are the final two phases of
Levinson’s stage model for adult
development ?

(A) Transition phase, settling down

period

(B) Age 30 transition phase,

settling down period

(C) Transition phase, entering the

adult world phase

(D) Settling down period, age 30

transition phase

is not a part of digital

etiquette.
(A) Smaller but

message

intimidating

(B) Read first, write later
(C) Keep attachment short

(D) Review, review and send

56.

57.

58.
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TR = FGAgER gegra &~ fafire
YAl aROTYEen frfed ot

(A) W& Had™

(B) qoIcHE Wil hIvTe™

(C) wifedt Wfshan e

(D) foamR wfsraien amarn w9
Ui fasmmEme! dfeaT=n ¥ Aiead
Y@ed IF TH HIVA AR ?

(A) HHHU 7ere, TeeRauar=n st

(B) 99 30 Hshyul 7aee, feermervarn
EAGIELH]

(C) HYU 3T, Wie S 2T
TAYT IO

(D) TEeRTeTgr=n SHIAEE, 99 30 eyl

TSR ST AT
(A) BRI W YHRIGUEMET TI9

(B) 9¥H 9= 91 forl

(C) Sirevil wfar

(D) YAeciehd qurEn o wrea
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59.

60.

61.

Creativity is :

(A) Moderately and positively

related to intelligence

(B) Strongly and positively related

to intelligence

(C) Moderately and negatively

related to intelligence

(D) Strongly and negatively related

to intelligence

Attentional cueing in infants
requires :

(A) Attracting the infant’s attention
with an acoustic cue

(B) A period of direct gaze before
averting the gaze

(C) pointing in the direction of the
attentional cue

(D) moving a colourful stimulus
towards the attentional cue

Individuals, during secondary
appraisal in the cognitive appraisal
model of stress, ...........

(A) unconsciously recall other

similar stressful events

(B) engage in the use of defense
mechanisms
(C) evaluate their resources for

dealing with stress
D)

experience resistance and then
exhaustion

59.

60.

61.
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gerRied &
(A) 9=99 YHOMG A0 GahRcden el
Flgaeh Fafaa e

(B) qUd: & WRRICHANRA SfGHRIT
Hefyd e

(C) HEIH TYHIUTG d TR TITCHR L
fgrel Fafaa o1

(D) gufd: TeRcHHRRE Ay
Tefd 3Te

AVRTHLY Aeahied HIOATHS! HT

OISR AR ?

(A) wafTEham s1efehra @& dEga B

(B) TSR T vaTqet & TSI hietaret

(C) ey fogine s qreed

(D) e T SIS FA&Talelt Heoparean
feem gerfaa

AT SEHTcH Jichiqvl YT

T HAHARTM, el

(A) NHIT TR HHH qUMEY AT
3ead

(B) TRETUT FAUET AR HIUAT TadTd

(C) TTOTqUIET= HTHAT SHIUIATHIS =
(D) WiTehR 37T FaX ohall ST Harm




62. When would a psychologist label a

child as developing typically ?

(A) When they reach 2 years of age
with no obvious physical

problems

(B) When they follow predictable

developmental trajectory

(C) When they reach specific levels

of reading and writing ability

(D) When they can walk unaided

62.
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HAHSTESR el |H=: foshasiia

N o ~
AT hegl RIFRT ARA 7

(A) S8 d hIvICATEl TS YRING
JHREE 2 Fud g

(B) Siegl  YalgHIG faehTaTcHes AR
SFTERT AT

(C) S/eg1 4 o= STfu ereHarae
fafere uaesTda AR

(D) S/e81 § AIRIEE =] wehdrd

63. Length and itensity of Light wave 63. TERTST TETR S ST e & 8
play an important role in :
HexerEl fHent e
(A) Perception of colour and
brightness . .
¢ (A) T Ao <Heh A HagA
(B) Perception of colour and
illumination (B) T A0 YT A Gagd
(C) Perception of constancy and )
(C) feeran anfor =mer o= HeolgH
brightness
(D) Perception of brightness and (D) =9 T YT I Faed
illumination
28 [m] &% [=]



64.

65.

66.

Stephen Ceci has suggested that

intelligence consists of ........ that are
based and linked to the

multiple abilities; biologically
multiple intelligences; learning
modules; developmentally

(D)

According to Milgram’s studies on
obedience, which factor significantly
decreased participant’s willingness to
obey orders to administer shocks ?

processors; cognitively

(A) The presence of an authority
figure in the room

The participant’s belief that the
authority figure was responsible
for the outcome

(B)

(C) The physical and emotional
proximity of the learner

receiving the shocks

(D) The use of scientific-sounding

justifications for the experiment

People high in creativity also are
likely to :

(A) Combine different ways of

thinking

(B) Filter out irrelevant stimuli to

attend to the task at hand
©)
D)

Display extrinsic motivation

Be geniuses

64.

65.

66.
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Py = GHEY 3T9ar 27T

"""""" XSG 7107 G Hien Sheete
T9d

(A) wgfay ewar; Sfas g
(B) wgfae gfgwmm; ste

(C) framTer; SeIfaesh ST
(D) UEER; AYcHE ST

THemm =1 STMYRRdaRid STYATEER,
TR ek SUaT=al STRINY  UTeid
HITITAT  3=ST HITCAT  EICHTH D
AR HH FeA 2

(A) Wielta Tenl Sifeeprame Ut

fagar &t

(B) W89TT=T 37T
fesrT=aT= e
SEIEFIE I

I OTTHTETSI

(C) 3% fuesur=an Aeggaswcaieh
IRIRSE sufor wEfe Sacdis

(D) WIS SRhg AT A JTeuI=a
ISR ST

] el o9 goRiel 3TN, W ¥
3Tg Yha

(A) fafag fo=amR= TR HIOT=

(B) TIIIE SHHER 8T TaT STHa e
SCEIIhTA X AR

(C) Y oM SfRferom=an

D) dfgaH




67.

68.

69.

Use of symbols to represent words,
images and ideas, occurs at what

stage of development ?

(A) Preoperational stage

(B) Sensorimotor stage

(C) Concrete operational stage
(D) Formal operational stage

Which of the following is false about
HIV ?

(A) It is considered a terminal

condition

(B) It is treated using antiretroviral

therapy
(C) At least half of the people who

are HIV-Positive are not being
treated

(D) About a quarter of people who
are HIV-Positive don’t know

that they have the disease

Cultural intelligence involves all of
the following dimensions EXCEPT :

(A) Metacognitive
(B) Emotional
(C) Motivational
(D) Behavioural

67.

68.

69.
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v, Wfamr onfor e getervarardt
fametn AR foswrr=a SR e
Bl ?

(A) qo-whEfcTdR  STewe

(B) SGTRRe 7ol

(C) 39 HAIcHb TaTEe

(D) ST9=MRer hicHer 3Tee

HIV =0 fawit wrefierist sivn faum
FHA 38 ?

(A) & TR TE=A AHeA ST

(B) & 3wyl I=RIIGRERA ITAR
qgdral aa

(C) 1% T I HIV-Positive 3THdM
e IUER B AR

(D) TH FqAST HIV-Positive TRl

8 AN Mg § Hifed! F4d

giepfas Jigaasd wreftadea ad
TR FEEe ear e

INEEICEIRC:ED
(B) vafeh

(C) W=H
(D) <R
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70.

71.

72.

Signal detection theory identifies two
distinct processes in sensory
detection :

(@) sensory process

(b) decision process

(¢) motivational process

(d) response bias

Codes :

(A) (a) and (b) only

(B) (¢) and (d) only

(C) (a) and (c) only

(D) (a) and (d) only

According to Kurt Lewin’s formula
behaviour is a function of which two
variables ?

(A) Appraisal and Attitudes

(B) Person and Situation

(C) Affect and Cognition

(D) Attitudes and Beliefs

The observation that scores on
intelligence tests worldwide have
increased substantially over the past
decades, this is called as :

(A) Flynn effect

(B) The generation gap

(C) The IQ effect

(D) The Wechsler effect

JUN - 13225/11—B

70. Toha ¥y fagia & agies Ihem=a <F

71.

72.

= ufsra sfeEm .
(@) Sk dfshan

(b) ol gfkan

(c) UXumcH Hfsha
(d) wfafsan geue
ﬁé’ﬁfﬂ? :

(A) (a) 30T (b) Herd
(B) (c) 30 (d) ek
(C) (a) 0T (c) e
D) (a) 3 (d) Fe

e AfT=AT FAER T § hI0 I
TRadtd w3 ?

(A) IR emfor sTfvgedt

(B) =it smfor gfifeerdt

(C) wrE affor &ed

D) Afygat sfor favemd

NEdT TITHTALA FAIUa FfgHear
JFTATHER U fA@avATd gHIu
AT aTeet 3118, A1 FRI&og ™
U ?

A) T 9Romm

(B) fdda 3T

(C) dfgHan Tiums

(D) d=&eR 9o
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73.

74.

Read each of the following two
statements-Assertion (A) and Reason
(R) and indicate your answer using
the codes given below :
Assertion (A) : Environments that
influence educational and cultural
opportunities enhance crystallized
intelligence.

Reason (R) : Crystallized
intelligence is developed through
stimulating fluid intelligence.
Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A)
Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following statements
is/are true with regards to Primary
prevention ?

(D

(B)

It basically means instilling
good health habits and
changing poor ones.

(IT) This means taking measures to

combat risk factors for illness
before illness has a chance to
develop.

(I) is true, (II) is false
(II) is true, (I) is false
Both (I) and (II) are false
Both (I) and (II) are true

(A)
(B)
©
(D)

73.

74.
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Treht feaen @ faumiist g3

FE-Sfaae (A) 30 HRA (R) 370 goed

IW Telt feoied FEan R wed fo

faam (A) ;. Tefoe enfor Arepfas

Hefer IR FHI0M ATy et

FfEHAET =€ <d.

®IUT (R) : SUS® 39 dGfedignr

forteagse gfgaan faskfad ohefl Sid.

Hehdish :

(A) (A) 3for (R) St He 3Ted 30T
(R) ¥ (A) ¥ sRIsR TR T

(B) (A) e7for (R) <<l A 31, a0l
(R) ® (A) ¥ SR TR0 TR

(C) (A) ¥ 3T, 99 (R) ¥ =R 3R

(D) (A) I &R, 997 (R) § UK
3R,

Treiteren! v faem/faum ¥ mafyes

EISELEAR G n e B Bc: |

I) o o3 =iTedl TR Ha 3o
e HU HI0

(ID) gr=n 31 o7 &1, 3wk fashfad
BTG ST ST/ SR
A T SHEEE U
RISEICItoL

(A) ) T 8, (D) § 6

(B) dI) &, (I) 3™

(©) () 7for (1) Irer T

D) 1) =t (II) S8 J&
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76.

7.

......... is a general term that refers
to illnesses caused by
atherosclerosis, the narrowing of the
coronary arteries.

(A) Metabolic syndrome
(B) Diabetes

(C) Coronary heart disease
(D) Alzheimer

is defined as life satisfaction,

the presence of positive effect, and a

relative absence of negative affect.
(A) Happiness

(B) Life satisfaction

(C) Subjective well-being

(D) Positive affect

Selective attention in vision and
audition respectively have been

dubbed as :

(A) ‘optic’ and ‘haptic’

(B) ‘spotlight’ and ‘gateway’
(C) ‘spatial’ and ‘acoustic’

(D) ‘central’ and ‘peripheral’

76.

77.
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1 SATSTRIAT HROTHIS! FTIRAT ST T
g Hepiad oA

(A) TIIET HAT

(B) WYHE
(C) &I
(D) ST

(D) 9hRIcHS 91d

IHA TS MM ArEaTS giREToen
(audition) 99 STAYFHL HIM Td
& 3E ?

(A) WehTTeTE e Rfesw
(B) YehRTE 0T YaER
(C) 3rehTefl 3Tfur eafemes
(D) wezert i afEt
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78.

79.

80.

What factor increases the pressure
for uniformity within groups,
according to Festinger’s explanation
of conformity ?

(A) The presence of a strong leader
(B) An explicit group goal

(C) The size of the group

(D) Individual intelligence levels

Which therapeutic method is most
effective in handling the initial
phase of treatment ?

(A) Group therapy

(B) Psychoanalysis
(C) Gestalt

(D) Behaviour therapy

Read each of the following two

statements—Assertion (A) and

Reason (R) and indicate your answer

using the codes given below :

Assertion (A) :Intelligence is a

single entity.

Reason (R) : Various types of

intelligence exist independently of

each other.

Choose the correct response :

(A) Both Assertion (A) and Reason
(R) are true, and Reason (R) is
the correct explanation for
Assertion (A)

Both Assertion (A) and Reason
(R) are true, but Reason (R) is
not the correct explanation for
Assertion (A)

Assertion (A) is true, But
Reason (R) is false

Assertion (A) is false, but
Reason (R) is true

(B)

(®)

(D)
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RIS STIERIT I hIUIER,

DU FEh TEHE THEIAAS qaa
qreaal ?

(A) TR TS =t Iufeerdt
(B) R TH TR &Y
(C) T 3R

(D) JAfeaer FfgHan e

SYART=AT GEATdr=al AT hivTd]

SUARICHS Ugd Faid Joret g ?
(A) T2 SYER

(B) HAfageo0l SUER Ugdl

(C) FHFAT SUER qagell

(D) odd STER TSl
Teaeht S faem (A) =7 &ror (R)

el 9 @t foeiean Hehdehiieh! qH

IW e ¢

faam (A) : JfsHa & Tha 9% TR

&RUT (R) : fafay gerre=an sfgamm

Iy yfqgrrEt Hae w4

(A) Tl faum (A) 2for %R (R) ©
TR 378 2701 ROT (R) B faamm
(A) ¥ a9 TR 3R

(B) <&l fagm (A) 3f1 &9 (R) ©
TR 3ATg, 901 &Rl (R) ® fagm
(A) = AT TSRO AL

(C) fasm (A) & ®R TR, T HR
(R) § 319 3R

(D) fau™ (A) & TFH 3TE, TU HRI
(R) T ¥ T8
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81.

82.

83.

Which of the following principle is
used by parsimonious fit indices ?

(A) Occam’s razor
(B) Preference for complexity

(C) Avoidance of

explanation

(D) Goodness of fit

simple

The theory of knowledge, especially
with regard to its methods, validity,
and scope, and the distinction
between justified belief and opinion
is referred to as :

(A) Ontology

(B) Epistemology

(C) Methodology

(D) Post-positivism

Which of the following is correct
meaning of ‘Blocking’ in
Randomized block design ?

(A) Participants with similar

characteristics are grouped

(B) Participants with similar
characteristics are removed

from experiment

(C) Participants with dissimilar

characteristics are grouped

(D) Random errors are blocked

81.
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83.
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WIeitel v o afgaiag fre fdsie
A ?

(A) TrehA=T TR

(B) Sfeetden e

(C) Hrel EeEIehiue resul

(D) T4 3 fthe

e fagra, faeem: @ g, dgd
211 e e | 2 M e | e
AT ek A1 Hawid foar o
SlICENCIE RS I

(A) FcmRme  (SATErs)

(B) AR

(C) dugdrmE

(D) IR-TcAETAR

gk ol feame e ‘sffeh’ =
Teiaeh! vl 37 seR 3 ?

(A) THF IS ST I Teelg,
ohel SITATd

(B) HHM YIS TRl TeUT WA

cplgd clohel Slldld

(C) Ty=1 afyr=y 19l WMl TTeag
hel ST

(D) agfea I aRIfad shedl STa




84. Following are the statements of

Assertion (A) and Reason (R).
Answer them with the help of the
following code :

Assertion (A) : Karl Popper
argued that
conjuncture and
falsification are
involved in science.
Popper takes
falsifiability as
solution of
demarcation problem
and problem of
indiction.

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) 1is not the correct
explanation of (A)

Reason (R) :

(A)

(B)

JUN - 13225/I11—B

84. faum (A) 27f0r RO (R) a1 YA

e faer feel amRa. @il feere

TohdiehTeal TerEa 3al <1 ¢
faam (A) : w1 99T FIAT AW

RIESCIE TSI RERIEIN

A AT AR

TrET GO ST

TR SR Ffshaan

diiRd gaEa oo

T TR Rt

TRUH AT,

(A) (A) sfor (R) S8t 9 3TTed STfon
(R) B (A) ¥ SR &R 3T

(B) (A) =1 (R) It ¥ 31ed, W
(R) T (A) ¥ TR HROT &

0T (R) :

(C) (A) is true but (R) is false (C) (A) ¥ 3% 90 (R) § 3THA 37
(D) (A) is false but (R) is true (D) (A) 39 3T 90T (R) ¥ T T
85. What is the Third Force of | 85. TGS {921 Yekiicl @ ®UA ?
Psychology called ?
(A) IAaE
(A) Behaviorism
(B) HMEAdER
(B) Humanistic
. (C) HAfaReTIuER
(C) Psychoanalysis
(D) Gestalt psychology (D) T
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86.

87.

88.

Which of the following are quasi-

experimental designs ?

(1) Interrupted Time-Series
Designs;

(2) Non-equivalent Control Group

Design,;

with Non-

equivalent Control,;

(3) Time Series
Block randomization
(1) only

(2) only

(C) (1) and (3) only

(D) (1), (2), and (3) only

Which of the following is non-

(4)
(A)
(B)

pictorial projective procedures ?
(1)
(2)
(3)
(4)
(A)
(B)

Word association test
Sentence completion test
Figure drawing test
Thematic apperception test
(1) only

(1) and (2) only

(C) (1), (2), and (3) only

(D) (1), (2), and (4) only

The type of counselling process
proposed by Carl Rogers is

(A) Directive counseling
(B) Eclectic counselling
(C) Dominant counselling

(D) Non-directive counseling

86.

87.

88.
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o~

EEIES

a N A N ~~
Ylcdlettehl enlUlcdl 9qH-ATIH e

IR ?

(1) =TAad Fres-difee fesme;

(2) F9qE THo e e e,

(38) FHgEd AHaa A =Hetaa
hics-Hifereh fesimsT;

(4) = IsAEERH

A) (1) &

(B) (2) %

(C) (1) 3mfur (3) Wherd

D) (1), (2), 701 (3) e

TTeAterdeh! v AH-TYeRIiae wafaa

gfRan smg ?

1) =2 TEfguEE <=

(2) ¥H few™ =r=ol

(3) o grEn =i

(4) ofifesd @A ==l

A) (1) ®x

(B) (1) a7fur (2) e

(C) (1), (2), A0 (3) e

D) (1), (2), T (4) e

Fet U JETfod holedl THIRYM
EIEREIICIN
(A) Fdemerss IURYE

(B) WIUIE TIRYH (TR THIRYH)

(C) HE |HIIH
(D) FRRWT THeR 9gRyH (FH-SPRERS)
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89.

90.

The psychology that stresses the
relationship between the individual
and the cosmos (universe) and in
doing focuses on the mystical and
spiritual aspects of human nature is
called :

(A) Transpersonal psychology
(B) Existential psychology

(C) Psychoanalytical psychology
(D) Behavioural psychology

Which of the following is a major

difference between Indian

Psychology and Indigenous

Psychology ?

(A) Indigenous Psychology is more

theoretical than Indian

Psychology

(B) Indian Psychology has a specific
theoretical foundation, while

Indigenous Psychology does not

(C) Indian Psychology is only
applicable within India, while

Indigenous Psychology is global

89.

90.
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R AT fave Fr=ANe FaEeR. W)
R SN WSl e e ST
steATfeder UfaR @&l Shfsd HIOR

(B) sifcarcash HMERIA

SN

(C) HAfTTATMHE:  HTTHRE

(D) Idh A
YR AFERIE A0 RS AFERTETd
TICAUSh! IO T & Beh e ?

(A) TEIT qITATA

HAEyTETIe At Ygifae TR

HTTERTTE

(B) YA AFERTEen fafere dgifas

T 2T, T TSN ARG A6t

(C) VRS AL ekl WA A1

B, T WYl AL Sfdeh 31

(D) YR HHERTE R fae Furer

(D) Indian Psychology rejects
cultural influences, while TR, T @RI AAGYS &
Indigenous Psychology
embraces them TR
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91.

92.

What is the range, mean, and
variance of normal probability
curve ?

(A) — 2

o to + ©; U; ¢

B) - 3 to + 3; u; o2
(C) —oto+ o, 0; 1
D) —3to+3:0;1

The following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the
following code :

Assertion (A) :
sampling ultimately leads to

Theoretical

theoretical saturation stage in
grounded theory.

Reason (R) :
requires checking emerging theory

Grounded theory

against reality by sampling
incidents that may further its
development until no new categories

can be identified.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) i the
explanation of (A)

(C) (A) 1is true but (R) is false
(D) (A) is false but (R) is true

1S not correct

91.

92.
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T G kel o1, Heg emfur
fo=re™ s 3T ?

(A) — o to + o p; 62
(B)—3to+3;u;c52

(C) —oto+ o 0; 1

D) —3to+3:0;1

faam (A) it wRoT (R) o1 9eSt
& faum foedt ofed. erell foetedn
HohdlehT=AT TR Sk &l
faam (A) ;. Jsifoe T4 T TS
fagame) S5ifae Tyea= o= .
HEUT (R) : USes  fagrarqanr
foehfea grom=an fagrar=i ar&dferenazit
THAT AT h&A U R0 ATATIR
e, ST dF a7 slies@edl SEudd
= foehmE 42 S ITehdl.
(A) (A) efor (R) =1 e At ATfor
(R) ¥ (A) ¥ =X HRU 3R
(B) (A) @fvr (R) <& & 311, g
(R) T (A) = IR HRU AR
(C) (A) ¥ R 01 (R) § A 378

(D) (A) 3THH 3R 90 (R) & TH .
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[=]
93. Arrange the steps of Braun and | 93. s 2701 sareh efifess fagarsomen
Clarke thematic analysis in the &l I8 A AT
correct order : (1) YRfYe wie TR O
(1) Generating initial codes : (2) shYY
(2) Searching; (3) 3z@ F&A T
(3) Familiarising; (4) wRenfoa o onfor @ O
(4) Defining and naming; (5) ATEERT 0
(5) Reviewing A (1) > @) > B) > @) > (5)
A 1) -2 >3 > @ —> B B) (2) > 1) - 3) = 5) - (4)
B 2 -1 >3 > 6B) > @ ©) 3) > (1) = (2) - (B5) — (4)
C) 3 > 1) > (2 > B > @ D) 5) = (4) - (3) - (2) — (1)
D B) >4 >3 -2 >0
04. Match List T with List IT and select | 94 ! 1 S AT LI Heflet SIreat <ire St
the correct answer using the codes BIEAE HRdETAT SR 3 T
given below the list : RICUN
List I (WrHifesh =it )
(Parametric Tests) (P) &&= 91 J-=r=oh
(P) Independent Samples t-test (Q) TR M@
(Q) One Way ANOVA (R) Tacifed 9 S-=r=of
(R) Dependent Samples t-test (S) Tusri=n weEay
(S) Pearson’s correlation IJret 11
List II (At-rdifees i)
(Non-Parametric Alternative) (1) 9Ea (fa=) ==
(1) Sign test 2) oM (weaes) =r=on
(2) Median Test (3) AR (gfawet) ==
(3) Binomial test 4) FEa-aa IRk
(4) Kruskal-Wallis test 5) FeerE IS
(56) Kendall’'s Tau dEdiE -
C°df;) ‘@ ® © P Q@ ® ©
D@ @ QO 6 E‘; EZ; E‘z‘; 8 g
B) @ @ @O @)
© L @ @ 6 (© (@) @) 6
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95.

96.

Psychologists confine the concept of

motivation to those factors that :

(A) Energize behaviour and

determine its direction

(B) Relate either to life instincts or

to death instincts

(C) Assume rational behaviour by

individuals

(D) Are biologically based and

predispose and organism to act

A ring of multiple arteries which

provides alternate bloodflow

pathways and guards the brain

against damage is called :
(A) Cranium

(B) Meninges

(C) Circle of Willis

(D) Blood Brain Barrier

95.

96.
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AT Y0 Feheaqal a1 HeahIgd
Tifed Sadrd ¢

IRIEERIETY

(B) Sad Heswai fohal Jog Festaad

oY Sreard

(C) =it difcheh A S 319 TRIdeh

R I NIG

(D) Sifaehder STeTRA STF AUAT FHelt

S{0IE HIMT qredid

3T YH=I aqes 51l T WragaTs /i

T hdl ST HGH I Y801 !

..........

(A) Had=T YA
(B) #f&gsh 3o (AfFe9)
(C) fafae= ade

(D) ™ Hg sTega
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97.

98.

Following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the
following codes :

Assertion (A) : IRT is commonly
used in computerized psychological
testing to estimate ability.
Reason (R) : IRT,
parameters can be estimated.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

In four

(B)

1S not correct

©
(D)

Which among the following is the
correct order of changes in the
membrane potential during an
action potential ?

(A) De-polarization, Hyperpolarization,
Re-polarization, Polarization

(B) Hyperpolarization, De-polarization,
Re-polarization, Polarization

(C) Polarization, De-polarization,
Hyperpolarization, Re-

polarization

(D) Polarization, Hyper polarization
De-polarization, Re-polarization

97.

98.
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faum (A) sufor ®RU (R) =1 JeAMIC!
qeia faum foelt smed. el fooen
HohdihT=AT TR ek &1 ¢
faam (A) ;. amdET RN BTIES)
TV AFERTGTE ar=oiqed IRT
o AR FEA: ohell Sl
®RUT (R) : IRT 9&d, IR THies=n
3T e Il
(A) (A) 3707 (R) & S §eF 3Ted (0T
(R) ® (A) ¥ SReX HRI TR
(B) (A) 27fo1 (R) & <=l &cd e,
707 (R) ¥ (A) & SRR RO AR
(C) (A) ¥ 3¢ 997 (R) ¥ THA 318
(D) (A) EF 3R 97 (R) & T 3R,

FHiTeHIGTH TeqIeaned  (HakA=1

STHIHE ) BIVIFAT ST TeieTish! ShiorT
HY I T ?

(A) fagdismton, sifaydiemion, gy,
PelEaul

(B) sifageienor, fagaierion, grgdiem,
Peicaul

(C) yateu, faydieto, stfayeieo,
EEEEETY

(D) yateo, sAfagate, fayetmo,
EEEEERY
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99. When  individuals receive | 99. el oKl &I = Ak Hiesisie
information about an aspect of their et W hed sl o Uldedl Sgervdral
physiological state and then they o I N B SR =
attempt to alter that state. This is
gefferd.
in an example of technique :
(A) fasimaa
(A) Relaxation
. (B) SEufauo
(B) Biofeedback
(C) Exercise (C) =™
(D) Hypnotism (D) FHRA
100. Thinking is a complex set of | 100. fa=m =1 = aqrfoy wfafafer
collaborations between ........... and oT sk A=A ier Heamr= T e
.......... representations and processes. SRS
(A) Linguistic; semantic (A) wifteh; s1efug
(B) Linguistic; verbal (B) ftreh; wmfsgeh
(C) Semantic; non-linguistic (C) IW; AwfoeR
(D) Linguistic; non-linguistic (D) «rften; AT
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ROUGH WORK
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